Warm-Up
|1Z
1. Factor: X2 + 7x + 12 '-l73
(x+u4XX+37

2. Multipl_y_; (2x - 3)(x + 6)
%[22 -3 Ix%* +Ax- |8
Ce 218
3. Convert to set notation: D: -7 < x <~ R:-7<y<7
D: C-1,) R, C-1,77]
4. Identify the Parent Function: -|x - 2| + 5
Abs. valye
5. Identify the transformation of the p.f. above.
FeflecF acvoss  Horizonted verncod T onsia®
Y- ook(€ Yatigion righi 2) * wp 5

Review:
f(x) = a(x-h)? + k

1. What does the value of a do to ‘rhe‘?{mph? |
reflect acrpssine a-axif-mneg ) vercalsiretch A7
verheal Compression p< a< |

?

2. V\)/ehrcgcg?g_s;c‘mﬁxglt% of k do to the graph:

wpl Y+ down ()~
?
3 Vel does aalig.ofh do fo the graph:

le £+ (Y right =)

h K
4. identify the parent function of [x-3| + 2
AbS .value

D. ]i%i?{iomibglnr&wg\rm%og of the parent function
Vertite redtiation upd,

SAT Question of the day

Aaron is staying at a hotel that charges $99.95 per
night plus tax for a room. A tax of 8% is applied to
the room rate, and an additional onetime untaxed
fee of $5.00 is charged by the hotel. Which of the
following represents Aaron’s total charge, in dollars,

for staying x nights?
MS\.OBM Q.95 + 5.00

1.08(99.95x) + 5

W

1.08(99ST + 5)x

6. Identify aﬁaggren‘r function of -(x+3)*- 3

7. Identify ’Meqrmnsformaﬁon of the parent function in question 6 i
refiectS across tne X—axisy nvrizonul translahon f+# 3

verheal tranSiation down 3 |3

8. What is the transformation of ¢ —3
verhcal CompresSion bg-i—
vertical ovwn 3 , ,

10. Identify the transformation of 5(x +5)" —10

verfical compression by 2/3 5 Hrizontad translachim Kt 5
varn cea trecasiadion dovon, [O




Using inequality notatio
domain and range? KD'
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Using inequality no‘rq’rj%n, w')l;\a/_‘r ioso’rhe Using inequality notation, what is the
domain and range? = -o< Y< domain and range?
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